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QUESTION 1

An architect is positioning a scale-up solution to a customer. The solution will reduce the customer\\'s server sprawl by
reducing 100 legacy virtualization hosts while improving performance. Which HPE platform provides an appropriate
solution?

A. HPE Integrity Superdome X

B. HPE Apollo Systems

C. HPE Synergy

D. HPE Hyper-converged systems

Correct Answer: D

QUESTION 2

A customer plans to use Insight Control server provisioning and HPE OneView for vCenter Server. The vCenter Server
manages one c7000 enclosure with 16 server blades running VMware ESXI. Which licensing option should the architect
include in the proposal?

A. one HPE OneView Standard license for each managed server and one HPE OneView for vCenter Server license for
the c7000 enclosure

B. one Insight Control server provisioning license for each managed server

C. one Insight Control server provisioning license for each managed server blade and one HPE OneView for vCenter
Server license for the entire c7000 enclosure

D. one HPE OneView Advanced license for each managed server

Correct Answer: C

QUESTION 3

An architect proposes an HPE Moonshot solution with three HPE Moonshot 1500 Chassis as follows: - one chassis with
30 m710 cartridges

-two chassis with 30 m800 cartridges each

The customer wants to change the solution to use two HPE Moonshot 1500 chassis as follows:

- one chassis with 30 m710 cartridges and 15 m800 cartridges - one chassis with 45 m800 cartridges
What should the architect explain to the customer?

A. Mixing different models of cartridges in the same chassis is not supported

B. A chassis can support both m710 and m800 cartridges, but the m710 cartridges will not be able to use their
accelerators
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C. Mixing different models of cartridges requires the customer to use an HPE Moonshot Provisioning Manager (MPM)

D. A chassis can support both m710 and m800 cartridges, but the m710 cartridge adapters will operate at 1Gbps rather
than 10Gbps

Correct Answer: B

QUESTION 4

An architect is planning an HPE Moonshot System deployment. The architect plans to individually connect each iLO CM
module to the management network. The customer informs the architect that this plan requires too many 1GbE ports
per rack for the data center infrastructure.

What is one way that the architect can alter the plan to meet the customer\\'s needs, while still allowing iLO access to
the HPE Moonshot Systems?

A. Configure iLO traffic to share the same adapters as production traffic. Configure VLANs on the HPE Moonshot switch
modules to separate the two types of traffic.

B. Keep one iLO CM Management port connected to the network. Use the iLO CM link ports on each iLO CM module to
daisy chain the chassis together.

C. Enable the iLO REST API on each cartridge node. The nodes will then accept iLO commands on the adapters that
they use for production traffic.

D. Add a second switch module and uplink module to each chassis to connect to the cartridge iLO ports. Stack the
modules in different chassis and connect just one to the management network.

Correct Answer: D

QUESTION 5

An architect plans to propose a solution and illustrate how it will reduce the predictable and repeatable costs for items
and services not registered as assets. Which reporting period information helps the architect achieve this goal?

A. total cost of acquisition (TCA)
B. internal rate of return (IRR)

C. gross profit (GP)

D. operating expenditure (OPEX)

Correct Answer: D
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